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�� (1) d[B]
dt

=                                 d[D]
dt

=   

(2) d[B]
dt

= 0 �

(3) d[D]
dt

= k1[A]  

(4) B ��	�>?QF[2�^S��'� �B �RGA&#DW8E�J����]	;
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(1) d[B]
dt

=
                                  d[C]

dt
=

  

(2)  

d[A]
dt

=  −k1[B]0[A]                
d[C]
dt

=  k1[B]0[A]− k2[B]0[C]              
d[D]
dt

=  k2[B]0[C]  

(3) H/O�M1����[A] = [A]0exp(–k1[B]0t) �G&U��[A] = 0.9[A]0 ��'
B�0.9 = 
exp(–k1[B]0•(18 min)). �(A&�k1 = –ln0.9/(18 min•0.30 mol/L) = 1.95×10–2 L mol–1 min–1. 
(4) H/O�M1�#�����8E  A�C�D �\O8E�Y�������'����

���H/O8E]@>I* k’1, k’2 ��'��RG_�L=��'K5 �-+,.��'

A*S	�� � � � � � � �X,('�ak'1 = k1[B]0, k'2 = k2[B]0b.   

k'1 = (1.95×10–2)×0.3 = 5.85×10–3 min–1 , t = 375 min *03��� k'2 ��	�Z
� k'2 = 
9.21×10–4 min–1��'�������k2 = k'2/[B]0 = 3.07×10–3 L mol–1 min–1. 

t = 1
ʹk1 − ʹk2

ln ʹk1
ʹk2

k1[A]− k2[B][C] k2[B][C]

−k1[A][B]− k2[B][C] k1[A][B]− k2[B][C]


